

REPORTING						
Provision	No. of Respondents ¹	Responses per Respondent	Total Number of Responses	Burden Hours per Response	Total Annual Burden Hours	Total Annual Cost @\$290/HR
Dispute Review Procedure	0	0	0	15	0	\$ -
Reporting Program Tech. Performance	135	2	270	10.6	2862	\$ 829,980
Patent Rights	0	0	0	10	0	\$ -
Reporting of Royalties	0	0	0	5	0	\$ -
Changes in Principal Investigator or Technical Objectives	10	1	10	10	100	\$ 29,000
Notice and Assistance Regarding Patent and Copyright Infringement	0	0	0	10	0	\$ -
Procurement Standards	0	0	0	3	0	\$ -
Suspension or Termination for Cause	0	0	0	20	0	\$ -
Termination for Convenience	0	0	0	20	0	\$ -
Travel (Foreign)	4	1	4	5	20	\$ 5,800
Service Agreement Form	100	1	100	1	100	\$ 29,000
TOTAL	235		384		3,082	\$ 893,780

RECORDKEEPING				
Section	No. of Recordkeepers	Burden Hours per Recordkeeper	Total Annual Burden Hours	Total Annual Cost @\$290/HR
Dispute Review Procedure	0	40	0	0
Reporting Program Tech. Performance	135	1.5	202.5	58725
Patent Rights	0	1	0	0
Reporting of Royalties **			0	0
Changes in Principal Investigator or Technical Objectives	10	1	10	2900
Notice and Assistance Regarding Patent and Copyright Infringement	0	1	0	0
Procurement Standards	0	0.3	0	0
Suspension or Termination for Cause	0	2	0	0
Termination for Convenience	0	2	0	0
Travel (Foreign)	4	0.5	2	580
Service Agreement Form	100	0.5	50	14500
TOTAL	235		264.5	\$76,705

	Burden	Responses	Cost at \$290/hr
Reporting	3,082	384	\$ 893,780
Recordkeeping	264.5	235	\$ 76,705
Total	3,346.5	619	\$ 970,485

Other costs
(item #13) \$ 31

COST TO THE FEDERAL GOVERNMENT

Section	Number of Responses	Federal Gov't hours per response	Total Hours	Total Annual Cost at \$290/hr
Dispute Review Procedure	0	25	0	\$ -
Reporting Program Technical Performance	270	2	540	\$ 156,600
Patent Rights	0	10	0	\$ -
Reporting of Royalties	0	3	0	\$ -
Changes in Principal Investigator or Technical Objectives	10	10	100	\$ 29,000
Notice and Assistance Regarding Patent and Copyright Infringement	0	10	0	\$ -
Procurement Standards	0	0.9	0	\$ -
Suspension or Termination for Cause	0	20	0	\$ -
Termination for Convenience	0	20	0	\$ -
Travel (Foreign)	4	0.5	2	\$ 580
Service Agreement Form	100	0.5	50	\$ 14,500
TOTAL	384		692	\$ 200,680